h) \ == =
R 255 LI E R A TR A (3H)
%%%L%\*%%%%Kﬁé?ﬂﬁi%?r/&—
wWmooEFE R B BR PT
1. K38 ({15 X 6 BLE)
) &R (CC) & /K & (mm) H B EE [ (h)
AR AR 7= A AR 7= AAF AR 7=
+ A 6.9 8.1 -1.2] 23.0 23.0 0 48.7 56.2 -7.5
thA) 9.8 9.7 +0.1] 335 30.7 +2.8| 65.6 56.6 +9.0
HFRDT —#113/11-3/19F TOE THEL TOET(3/20DF —FiZ A> TVERA),
II. JFEADFRERI
[ #f]
| s |
T, e BT AT AT . 3/18
FE A R R B B B
e s A A2 [ HAAEHERBE EO FEAEFRFEFE S+
mERA R P T 2 E A gsw T mrownm
9 ¥R 6 2 0] 0 0 8 25.0 HEOFBFE: 0.3 6.3
AN N T 4 4 0 0 0 8 50.0 HIEDORIFHE: 0.2 12.5
SN E = 4 3 1 0 0 8 50.0 HEOFAEFK: 89 15.6
| =2z 5 |
PRI NAT, f LT R 3/18
& R R I B3 K
b =4 VA) A= %\éﬁzlﬁl %Jﬁ E I/E\ H & U\ %\éélz*i};f?léi&*
x5 IR/ 7 1 0 0 0 12.5 HIEORBHE: 0.0 3.1
AN N 0 6 2 0 0 100.0 HEORFE: 2.8 31.3
SN F = 5 0 0 0 375 IHIEOHEEE: 0.6 9.4
A
RSP, RN REITERAE . 3/18
FE A R R BB B B
= s A AR [ HAAEHERBE EO FEAEFRFEFE S+
mEsA R P T 2 R TR gan mroti
=2 B2 ] 5 3 0 0 0 8 37.5 EEBMEFHE®: 0.5 9.4
i X ] 4 4 0 0 0 8 50.0 k& WiE % 0.1 12.5




AAEh<h |
Rl i, S T A 3/18,20
R L R [ 5 5 ) ! P
BERA v w5 pp LLm  BERERO R
% 95 8 2 0 0 0 10 200 ¥ W 1.6 5.0
K 0y O 9% 10 0 0 0 0 10 0.0 HEFHKE®: 0.0 0.0
K & O IR 10 0 0 0 0 10 0.0 % W 0.0 0.0
fI /N O 1 9 1 0 0 0 10 100 % % E . 0.1 2.5
Antaatyge 6 4 0 0 0 10 40.0 HAEKE®W: 3.6 10.0
gntaatytg 6 4 0 0 0 10 400 HFAEELFR®: 0.9 10.0
Avyyaty iz 7 2 1 0 0 10 30.0 HFAEKE®: 4.8 10.0
tvyvatyiz 7 3 0 0 0 10 30.0 FHAEHER®: 1.3 7.5
£ ] 10 0 0 0 0 10 0.0 & 7 Kk % * 0.0
% bz 95 10 0 0 0 0 10 0.0 % W K £ x 0.0
NOX = 10 0 0 0 0 10 0.0 % /& 3 H 0.0
A K 2|
AP, BT A 3/17,18
R E R [ 5 5 ) ! I
BERA v w5 ap Lpm  WERERO R
R N O 1 7 0 0 0 0 7 0.0 FWHmER®: 0.0 0.0
8 AT 7 0 0 0 0 7 0.0 FWEER®: 0.0 0.0
T 9 R 2 3 2 0 0 7 14 IR ERm: 124 25.0
VA AN | 7 0 0 0 0 7 00 HFAEER®®: 0.0 0.0
IFIXAuTH I 2 4 1 0 0 7 1.4 HAEER®: 83 20.0
IFIRAuTH I 3 3 1 0 0 7 57.1 B ERE W : 26 0.0
Avyvaty i3 7 0 0 0 0 7 00 HAEKE®: 0.0 0.0
tvyvatyiz 7 0 0 0 0 7 00 HFAEER®: 0.0 0.0
NOX = M 6 1 0 0 0 7 143 FHFAEER®: 0.3 3.6
[E3] ¥ 97 7 0 0 0 0 7 0.0 % Fi K = x 0.0
s fili ] 7 0 0 0 0 7 0.0 ¥ &/ K& 0.0
L& FExary |
i, AR T MERA: 3/17-19
AR R 5 K ) \ e
FEna W 4w 5w pa fed WERERO RERRE
~ & ¥ 2 6 0 0 1 9 77.8 % K R ) 14.6 27.8
58 AR 1 5 3 0 0 9 88.9 J& JH IE = (%): 13.6 30.6
R 2y OV 9§ 9 0 0 0 0 9 0.0 % % £ % ®: 0.0 0.0
VA AN | 7 2 0 0 0 9 22,2 O HE R %) 04 5.6
IFIRAuTH I 4 3 2 0 0 9 55.6 % /E 3 R (%): 10.8 19.4
" 9 0 0 0 0 9 0.0 % H & ®: 0.0 0.0
Frvyvatygz 9 0 0 0 0 9 0.0 % 4 # & ®: 0.0 0.0
74 e ] 9 0 0 0 0 9 0.0 % 5 Kk = * 0.0
¥ 9 (52 kG M) 9 0 0 0 0 9 0.0 ¥ B Kk F = 0.0
BEOUSOADOH#O9E 9 0 0 0 0 9 0.0 J& i % & x 0.0
2> 5 E 9 0 0 0 0 9 0.0 % W Kk = x 0.0
23 95 9 0 0 0 0 9 0.0 J& 7 H & x 0.0




VS Ny AV Ay

TR, A FEITENA: 3/17

AL < 4

& TR R kK
e - A [l AEE A KW, AR FE S
=5 Eii Vi) AN
mEsA R P T 2 F TR gsn  mrotw
~ L 95 9 1 0 0 0 10 10.0 % 9% JE 0.4 2.5
VA AN | 9 1 0 0 0 10 10.0 FARERK: 0.1 2.5
| &BAF2 |
FEES T, Pl it AR A 3/17,18,20
g6 TR R kK
g - A [ A A KW, AR FE S
= i 2 - AN
mEsk R P T 2 R TR gen  mrow
R N O 13 1 0 0 0 14 71 B W OREO®: 0.1 1.8
58 AW 12 2 0 0 0 14 143 % 55 # £ ®: 0.5 3.6
" 13 0 1 0 0 14 71 W OR R ®: 0.6 3.6
VA AN | 10 3 1 0 0 14 28.6  H A M E ®): 5.4 8.9
N OF = M 7 5 0 1 1 14 50.0 % ZE Bk E ): 20.6 21.4
NOE = 7 5 0 2 0 14 50.0 % /B 3 R %) 13.4 19.6
1) FAEREREILL FORLRD TS,
7 X
S — (X1 +H X2+ £X3 +H#X4) %100



